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Could you please bring me (a glass of- a piece of) water? )
Please buy (a loaf of- a bottle of) bread for breakfast. Y
How (many- much) People are there in street? v
How (many - much) money do you save? ¢
Mina has a very good l_tionsh_p with her mother. I
They live in an Islamic soc_ _ ty . #
Add the given words in parentheses . Re wright the sentences cormectly .

\4
The students play . (often / on Mondays / football / in the school yard )
Arrange the following words.
Aborrowed /I/thatbook A
B:We /anew language /can/leam. 0
Choose appropriate words to complete the following sentences.
1. There was not (many/ much) traffic on our way home. We came back just in time.
2. Thave been to Sydney (few / many) times. Three times in 1987 and twice last year.
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